Sr Nomenclature Part No. Specification Dimension (mm) [A/U| Qty
1 {Washer M3-A-08 DIN 6797 | M8 Thread No | 200
2 |Washer M3-D-08 DIN 6797 | M6 Thread No| 200
3 |Washer Lock 11010413 DIN 8791 A M5 Thread No| 100
4 |Screw 196-2208 DIN EN 24766 M4x0.7 No | 2500
5 |Sleeve Pin 197-4012 DIN EN 8752 2 2x14 No| 500
6 |Bolt for Pistol Grip 196-05(1) DIN EN 1SO 1207 M6x1-6g No | 1500
7 |Sleeve Pin Nominal 198-15005(1) DIN EN 1SO 13337 5x42 No | 1000
8 |Sleeve Pin 198-15006(1) DIN EN ISO 13337 D4ax24 No | 1000
9 |Sleeve Pin 198-15007(1) DIN EN ISO 13337 D4x29 No | 1000
10 [Screw ( GB 68-85) 338-1002-57 DIN EN ISO 2009 M6-6gx12 No| 500
11 [Screw ( GB 67-85) 338-2007-123  |DIN EN ISO 2009 M4x12 No| 300
12 |Screw ( GB 68-85 ) 338-2007-124 DIN EN ISO 2009 M5x12 No| 500
13 |Screw { GB 67-85) 338-2008-146 DIN EN ISO 2009 M4x8 No | 1000
14 |Pin ( GB 119-86 ) 338-1003-26 DIN EN ISO 2338 D6x26 No| 200
15 [Pin ( GB 119-86 ) 338-2000-2 DIN EN 1SO 2338 25x16 No | 500
16 [Pin ( GB 119-86 ) 338-2007-133 DIN EN ISO 2338 210x20 No| 300
17 [Pin ( GB 119-86 ) 338-2007-149 DIN EN 1SO 2338 a5x25 No | 300
18 |Pin { GB 119-86 ) 338-2008-158 DIN EN I1SO 2338 25x12 No | 500
19 (Screw ( GB 73-85) 338-2007-126 DIN EN I1SO 24766 M4x6 No | 300
20 |Screw ( GB 73-85) 338-2007-127 DIN EN ISO 24766 Méx6 No | 300
21 |Bolt for Butt 196-8201(3) DIN EN 1SO 4014 M8x1.25x6g MB Butt | No | 500
22 |Bolt ( GB 5783-86 ) 338-2008-149 DIN EN 1SO 4017 M5x10 No | 500
23 |Bolt ( GB 5783-86 ) 338-2008-150 DIN EN 1SO 4017 Méx12 No | 300
24 |Bolt { GB 5783-86 ) 338-2008-151 DIN EN ISO 4017 M6x6 No | 200
25 |Bolt { GB 578-86 ) 338-2008-175 DIN EN 1SO 4017 M6x14 No | 1000
26 |Bolt ( GB 5783-85) 338-2008-186  |DIN EN iSO 4017 M5x20 No{ 300
27 |Set Screw M3-C-15 DIN EN ISO 4026 M6x1x8 No| 100
28 [Jam Nut for Bolt for Butt 196-22(1) DIN EN ISO 4032 M8x1.25-6H No{ 600
29 j{Locking Nut M5 278-0800-10 DIN EN ISO 4032 M5 No{ 100
30 {Nut ( GB 6170-86 ) 338-2007-130 DIN EN 1SO 4032 M6 No | 2000
31 |Nut M3-B-09 DIN EN ISO 4032 M12x1.25 No | 300
32 [Nut M3-C-08 DIN EN I1SO 4032 Méx1 No | 200
33 |Nut 197-4010(6) DIN EN ISO 4035 M8x1.25-6H No | 500
34 INut ( GB 6172-86 ) 338-2007-136 DIN EN ISO 4035 M10 No| 200
35 [Nut ( GB 6172-86) 338-2007-143 DIN EN ISO 4035 M8 No{ 500




Sr Nomenclature Part No. Specification Dimension (mm)} |(A/U| Qty
36 [Nut ( GB 6173-86 ) 338-2008-152 DIN EN ISO 4035 M10x5 No | 500
37 |Screw ( GB 70-85 ) 338-2008-147 DIN EN 1SO 4762 M6x14 No | 1000
38 |M8 Washer for Butt 196-09(2) DIN EN 1SO 7091 M8 No | 1000
39 |Spring Washer for Butt 196-10(2) BIN EN 1SC 7091 M8 No | 1000
40 |Washer ( GB 971-85 ) 338-2007-132 DIN EN ISO 7091 M4 No | 500
41 |Washer ( GB 971-85 5-200HV ) 338-2008-153 DIN EN 1SO 7091 &10x(5.3x1t No | 300
42 |Washer { GB 971-85 6-200HV ) 338-2008-154 DIN EN 1SO 7091 @12xJ6.4x1.6t No | 1500
43 |Washer { GB 848-85 16-200HV ) 338-2009-83 DIN EN 1SO 7091 D17xD13x2.5t No i 300
44 |Washer 5174192 DIN EN 1SO 7091 12.83%6.35 No | 1000
45 |Washer ( GB 971-85 4-200 HV ) 338-2009-80 DIN EN 1SO 7092 0.8bx0D9xID4.3 No | 1000
46 (Bolt { GB 5783-86 } 338-2009-75 DIN EN 150 75001 M8x21 No [ 500
47 |Screw Rear Sight Cover MY 322B 083 DIN EN ISO 7500-1 M3x0.5-4g No{ 100
48 |Bolt ( GB 5783-86) 338-2007-128 DIN EN ISO 7500-1 M6x20 No | 2000
49 |Bolt { GB 5783-86 ) 338-2007-129 DIN EN 150 7500-1 M8x21 No | 500
From DE
50 [Dowel Pin Gas Regulator Bush MY 322B 145 DIN EN ISO 8734 (dme6) |@2x20 No | 200
51 |Dowel Pin, Sear Block MY 322B 339 DIN EN 1SO 8734 (dm6} (& 4x30 No | 1000
52 |Dowel Pin MY 322B 021/A |DIN EN ISO 8734 (dm6) |D 2x16 No | 200
53 |Dowel Pin Selector Collar MY 322B 321/A |DIN EN ISO 8734 (dm6) |& 2.5x14 No | 100
54 |Dowel Pin ( GB 119-86 ) 338-00~9 DIN EN ISO 8734 (dmé) |@4x22 No| 200
55 |Pin ( GB 119-86 ) 338-00-10 DIN EN 1SO 8734 {dm6) |D8x14 No | 500
56 |Dowe! Pin { GB 119-86 ) 338-1001-16 DIN EN 1SO 8734 (dm6) [&6x50 No | 500
57 |Pin { GB 119-86) 338-1002-43/56 |DIN EN 1SO 8734 (dm6) |@2.5x16 No | 200
58 |Pin ( GB 119-86) 338-1002-44 DIN EN ISO 8734 (dm6) |J2x14 No | 300
59 jPin { GB 119-86 ) 338-1002-45 DIN EN I1SO 8734 (dmé} |(D4x8 No| 200
60 |Pin { GB 119-86 ) 338-1002-55 DIN EN 1SO 8734 {dmé} [@3x20 No | 200
61 |Pin { GB 119-86 ) 338-1002-56 DIN EN IS0 8734 {dm6) [J2.5x16 No | 300
62 |Pin ( GB 119-86 ) 338-1003-23 DIN EN ISO 8734 (dme) |@4x18 No | 300
63 |Pin ( GB 119-86 ) 338-1003-25 DIN EN ISO 8734 (dmé) |[@6x12 No| 300
64 |Pin ( GB 119-86 ) 338-2008-178 DIN EN IS0 8734 (dmé) |[D4x10 No | 300
65 |Pin { GB 119-86 ) 338-2008-190 DIN EN 1SO 8734 (dmé) |D4x22 No | 200
66 |Parallel Pin { GB 119-86-D3x26 ) 278-0406-13 (DIN EN ISO 8734 (dm6} |23 x 26 No| 100
67 |Parallel Pin { GB 119-86-D3x10 ) 278-0406-14 |DIN EN 1SO 8734 (dmé} (@2 x 10 No | 100
68 |Roll Pin (Dowel Pin) MY 322B 378 DIN EN 1SO 8734 (dmé) |[{d1.5x14 No| 200
69 |Roll Pin MY 3228 039 DIN EN ISO 8734 (dm6) |(D2.5x12 No| 200
70 [Roll Pin MY 322B 375 DIN EN 1SO 8734 (dm6) (@2.5x14 No| 300
71 |Roll Pin MY 322B 039 DIN EN ISO 8734 (dmé) [@2.5x18 No| 100




Sr Nomenclature Part No. Specification Dimension (mm) |A/U| Qty
72 [Roll Pin MY 322B 375 DIN EN IS0 8734 (dmé} [D2x12 No{ 200
73 {Roll Pin MY 322B 275 DIN EN ISO 8734 (dm6) [@D2x14 No | 500
74 |Dowel Pin MY 322B 021 DIN EN ISO 8734 (dm6) |@2x16 No| 100
75 [Roll Pin MY 322F 003 DIN EN 1SO 8734 (dm6) |[@2x18 No| 200
76 {Roll Pin MY 322F 001 DIN EN ISO 8734 (dmé6) |(@2x8 No{ 100
77 |Roll Pin MY 322B 039 DIN EN ISO 8734 (dm6) [@3x18 No [ 100
78 |Roll Pin MY 322B 375 DIN EN I1SO 8734 (dm6) (3x12 No | 100
79 [Roll Pin MY 322B 039 DIN EN iSO 8734 (dm6) |D3x16 No | 200
80 [Roll Pin MY 322B 001 DIN EN [SO 8734 (dmé} [@3x20 No | 200
81 |Roll Pin MY 322B 024 DIN EN ISO 8734 (dm6) |@D3x24 No | 200
82 [Roll Pin MY 322E 003 DIN EN ISO 8734 (dm6) [@3x30 No | 200
83 [Roll Pin MY 322B 001 DIN EN ISO 8734 (dme) |@4x20 No | 100
84 |Pin GB 119-86 338-2008-168 DIN EN ISO 8734 (dm6) |24x26 No | 200
85 |Sleeve Pin 196-9204(1) DIN EN 1SO 8752 @2x14 No{ 500
86 |Sleeve Pin 354-1208 DIN EN 1SO 8752 D2x9 No | 2000
87 |Spring Pin ( GB 879-86 ) 338-2007-134 DIN EN 1SO 8752 D4x10 No [ 500
88 |Pin { GB 879-86 ) 338-2008-173 DIN EN ISO 8752 @4x20 No [ 200
89 [Pin { GB 879-86 ) 338-2008-179 DIN EN ISO 8752 @5x20 No| 200
90 [Pin ( GB 879-86 ) 338-2009-78 DIN EN |SO 8752 @4x20 No | 500
91 |Pin ( GB 879-86 ) 338-2011-26 DIN EN ISO 8752 22.5x26 No| 300
92 |Pin MS 16562~120 DIN EN iSO 8752 @ 2x16 No| 100
93 |Allen Key (Front Sight) MY 322Q 150 x72mm L Key No [ 100
TLW 040




